
Contestant #:  

Name:   

County:   
4-H 

POULTRY JUDGING EVENT 
 

CLASS A: Production Hens – placing only 
 

Directions: Below are all the possible placings for a ring 
of four hens. Draw a circle around the placing which you 
consider correct for the ring of hens you are judging. 

 
A = 1 – 2 – 3 – 4  
B = 1 – 2 – 4 – 3  
C = 1 – 3 – 2 – 4  
D = 1 – 3 – 4 – 2  
E = 1 – 4 – 2 – 3  
F = 1 – 4 – 3 – 2  
 
G = 2 – 1 – 3 – 4  
H = 2 – 1 – 4 – 3  
I = 2 – 3 – 1 – 4  
J = 2 – 3 – 4 – 1  
K = 2 – 4 – 1 – 3  
L = 2 – 4 – 3 – 1  
 
M = 3 – 1 – 2 – 4  
N = 3 – 1 – 4 – 2  
O = 3 – 2 – 1 – 4  
P = 3 – 2 – 4 – 1  
Q = 3 – 4 – 1 – 2  
R = 3 – 4 – 2 – 1  
 
S = 4 – 1 – 2 – 3  
T = 4 – 1 – 3 – 2  
U = 4 – 2 – 1 – 3  
V = 4 – 2 – 3 – 1  
W = 4 – 3 – 1 – 2  
X = 4 – 3 – 2 – 1  
 
 Score: ________________ /100 
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